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Ql) A)

Fill in the blanks (Attempt any 5 out of 6) : [9]

),

i

Vi)

Inflation is measured on the basis of

d WholesadePricelndex b) Consumer Price Index
c) Marshal'sindex d) Interest Rate
Disguised unemployment is common in

ad Agricultural sector b) Industrial sector

Cc) Service sector d) All sector

Land Holding of marginal farmer is

ad Lessthan5 acre b) Morethan5 acre
Cc) Lessthan2.5acre d) Morethan 2.5 acre

Prime Minister crop insurance scheme came into existence in

8 2016 b) 2010
c) 1995 d) 1985

According to Weber, the most important factor in locating afactory
IS

d  Transportation b) Agglomeration

c) Development d) Population
Industrialisation often leads to :
a Poverty b) Decentraisation
c) Development d) Population

PT.O.



B) Matchthefollowing: [9]
)  Firstfiveyear plan ad Industrial development
i)  Second five year plan b) Agricultura development
ii)  Florence c) Cotton
Iv) Cash crop d) Theory of Industrial location
v)  New Industria policy e 1991
Q2) Write ashort noteson (Any 2 out of 4) : [10]
a8 Causesof price FluctuationinAgricultural
b) Industria imbalance
c) Cobweb theory
d) Concept of plant, firm and Industry.
Q3) @ DefineAgricultura Economics. Explain the natureand scope of Agricultural
Economics. [8]
b) Explainthe advantages and disadvantages of large size of farm. [7]
Q4) @ Define Industrial Economics. Explain the scope and importance of
Industrial Economics. [8]
b) Explainthe Weber'stheory of Industrial location. [7]
Q0AQ0

[5801]-314 2



Total No. of Questions: 4]

P2922

[5801]-314
SY.B.Com. (Semester - 111)
236 (i) : AGRICULTURAL AND INDUSTRIAL ECONOMICS- |
(2019 Pattern)

(AU EUTaR)
o [ @egor 707 : 50

gt : 1) @ 999 TEvas Sied.
2) ISTdiwSIT 3Tk @1 99ATA QUi o7 F9ifaard.

gg71) 1) ke wwm . (6 TR vt 5) [5]
) HERETE ............ T JTRTER Wil ST,

i) T3 d dERN TYRIE: ........... A R,
) o @ q) St 8=
%) Tan o g) wded

jii)  TfaTa SrdeR=aTeR WY ... 3.

iV) Od9EE dies fomn O e, AT 3Tett
H) 2016 ¥) 2010
%) 1995 g) 1985
V) Qe A ISTEET TMAT ... T HEeaT U 3718
H) AEgE T F)  THAH
%) fowm T)  cArREE
Vi) Sliefieh FomgS ... fmtor 2.
) TR q) Tk
*) fowm g) REE



s . [5]
) il deEe die ) it o

i) e e de a) o fem

i) et F) YA

iv) e fues g) oiieaifes T fFivadn frgm
V) Afem siteenfies et g) 1991

mr2) i fere (4 R o 2) [10]

H)
=)
%)

%)

gs73) )
)
gsg4) )
)
[5801]-314

Fet ferAdiidier T Sawrl ROt
N e

hisad Rrgia

TehedHT ; T, SSANTEEAT SATf0T ST

Tt STAVTEATE ARG 1. HEt STAVTEAT &y ST et T+ . [8]
Tia=N TRUISETEN WER A1 W . [7]

AR TAVTETN SARE 4. 3iieenfites A=t SamHl AT Wt

™Y T [8]

Q000



